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td>Humidity
td id="bme28@_currentHumidity">tekst</td>
td>tekst
td>tekst</td
i>tekst</td

1>Pressure</td
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td>tekst</td
td>tekst

i>tekst

ipt src="js/util.js"
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js > I5 utiljs > ...
var allMeasuredTemperatures = [];
‘unction getRandomTemperature() {
-30;

var max = 80;
var randomInt = Math.floor(Math.random() * (max - min + 1)) + min;
allMeasuredTemperatures.push(randomInt);
console.log(allMeasuredTemperatures);
document.getElementById("bme286_ currentTemperature").innerText = randomInt.toFixed(2);
document.getElementById("bme286 minimumTemperature").innerText = Math.min.apply(null, allMeasuredTemperatures).toFixed(2);
document.getElementById("bme288 maximumTemperature").innerText = Math.max.apply(null, allMeasuredTemperatures).toFixed(2);

let calculateAverage = (array) => array.reduce((a, b) => a + b) / array.length;

document.getElementById(“bme286_averageTemperature").innerText = calculateAverage(allMeasuredTemperatures).toFixed(2);

tion showTime() {

var dateTime = new Date();
var time = dateTime.tolocaleTimeString();
document.getElementById(“time").innerText = time;

i
ar displayTime = setInterval(showTime, 500);
var interval = setInterval(getRandomTemperature, 10@8);




css » #

style.css > ...
html {
font-size: 20px;

}

table {
padding: 20px;
border-collapse: collapse;

}

table td,
table th {
border: 2px solid [black;

}

tre
margin: 4vh !important;

}

tr:nth-child(2n + 1) {

background: [Clrgba(@, @, 255, ©.26);
color: Mgainsboro;
font-weight: 960;

tr:nth-child(2n) {
background: [lrgba(e, e, 128, 8.322);
color: Mgray;
font-weight: 900;

}
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# queries.css > {} edia only screen and (max-width: 64

@media only screen and (max-width: 192epx) {
th,
td:nth-child(1) {
background: M#26a69a;
color: [black;
font-size: 1.5rem !i
font-weight: bold;
text-align: right;

td, td:nth-child(1) {

th {
padding: 2vh !i
width: 20vw;
height: 5vh;
font-size: lrem !i
text-align: center;

background: [J#332
color: EMwhite;
font-size: lrem
font-weight: bold;

td { 8 td {

font-size: 2rem font-size: lrem




